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LAPLACE’s EQUATION
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UNIFORM FLOW SOLUTION
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SOURCE FLOW SOLUTION
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POTENTIAL VORTEX SOLUTION

Potential Vortex
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DOUBLET PLUS UNIFORM FLOW
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STAGNATION POINTS
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MAGNUS EFFECT
lift generated by a rotating cylinder in uniform flow

Uniform Flow + Doublet + Potential Vortex
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Uniform Flow
4 m/sec
5 degree angle of attack
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Kutta Condition

Viscous fluid can not make the sharp trailing edge turn
of the indal flow solution.

Rear stagnation point must be at the training edge.

Add vortex strength to achieve this condition.
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